
GLOBAL NONEXISTENCE OF THE SOLUTIONS FOR A NONLINEAR WAVE EQUATION WITH THE Q-LAPLACIAN OPERATOR*

Gao Hongjun and Zhang Hui

(Department of Mathematics and Institute of Mathematics, Nanjing Normal University,
Nanjing 210097, Jiangsu, China.)

(E-mail: gaohj@njnu.edu.cn(H. Gao); alpha59@163.com)

Dedicated to Prof. Boling Guo for his 70th Birthday

(Received Jul. 7, 2006)

Abstract We study the global nonexistence of the solutions of the nonlinear q-Laplacian wave equation

$$u_{tt} - \Delta_q u + (-\Delta)^\alpha u_t = |u|^{p-2}u,$$

where $0 < \alpha \leq 1$, $2 \leq q < p$. We obtain that the solution blows up in finite time if the initial energy is negative. Meanwhile, we also get the solution blows up in finite time with suitable positive initial energy under some conditions.

Key Words q-Laplacian operator; nonlinear wave equation; global nonexistence.

2000 MR Subject Classification 34G20, 35L70, 35L99.

Chinese Library Classification O175.27.

1. Introduction

We study the initial boundary value problem

$$\begin{cases} u_{tt} - \Delta_q u + (-\Delta)^\alpha u_t = |u|^{p-2}u, & x \in \Omega, t \geq 0, \\ u(x, t) = 0, & x \in \partial\Omega, t \geq 0, \\ u(x, 0) = u_0(x), u_t(x, 0) = u_1(x), & x \in \Omega. \end{cases} \quad (1.1)$$

Here $2 \leq q < p$, $-\Delta_q u = -\sum_{i=1}^{\infty} \frac{\partial}{\partial x_i} (|\frac{\partial u}{\partial x_i}|^{q-2} \frac{\partial u}{\partial x_i})$, and Ω is a bounded domain in R^n , $n \geq 1$, with smooth boundary $\partial\Omega$. For this problem, H. Gao and T. F. Ma [1] had obtained the global existence of the solution when $q > p$ and with small initial data when $q \leq p$.

*This work is supported in part by NSF of China No.10571087, SRFDP(No. 20050319001), Natural Science Foundation of Jiangsu Province BK2006523, Natural Science Foundation of Jiangsu Education Commission No. 05KJB110063 and the Teaching and Research Award Program for Outstanding Young Teachers in Nanjing Normal University(2005–2008).

When $q = 2$, with the linear damping term ($\alpha = 0$), H. Levine ([2, 3]) had proved the solution blows up in the finite time with negative initial energy. When $q = 2$, and the damping term is given by $|u_t|^r u_t$, here $r \geq 0$, many authors had studied the existence and uniqueness of the global solution and the blowup of the solution, see [4-6]. Our objective is to study the global nonexistence for this kind of equations with $q < p$ under a weaker damping term. For negative initial energy, we use the energy method with some modifications to [7] and [8], and obtain the global nonexistence for (1.1). For positive initial energy, we use the concavity technique developed by Levine [3] to get the global nonexistence for (1.1), this method can also be found in P. Pucci and J. Serrin [9].

The damping term we consider here is different from [10]. Since for an arbitrary $0 < \alpha \leq 1$, the condition (3d) in [10] does not always hold. For the model we consider here, by [10] we know $V = L^2(\Omega)$, $W = L^p(\Omega)$ correspondingly for our case, and $W' = L^{p'}(\Omega)$, here $\frac{1}{p'} = 1 - \frac{1}{p} > \frac{1}{2}$, and

$$\begin{aligned} Q(t, v) &= (-\Delta)^\alpha v, \\ \mathcal{D}(t, v) &= \int_{\Omega} (Q(t, v), v) dx = \|(-\Delta)^{\alpha/2} v\|_{L^2}^2. \end{aligned}$$

By Sobolev imbedding $W^{2\alpha, p'}(\Omega) \hookrightarrow W^{\alpha, 2}(\Omega)$ (see [11]) with

$$\alpha \geq n\left(\frac{1}{p'} - \frac{1}{2}\right), \quad (*)$$

we have

$$\|(-\Delta)^\alpha v\|_{L^{p'}} \leq C \|(-\Delta)^{\alpha/2} v\|_{L^2},$$

here C is a constant. The above inequality just is (3d) in [10] with $\delta(t)$ being constant and $m = m' = 2$. We know the condition (*) does not always hold for any given $0 < \alpha \leq 1$ and for all p satisfying the condition (2.2) in the sequel, that is (3d) in [10] does not always hold for arbitrary $0 < \alpha \leq 1$. But our results hold for any $0 < \alpha \leq 1$ and all p satisfying the condition (2.2).

Here we use standard notations. We often write $u(t)$ instead $u(t, x)$ and $u'(t)$ instead $u_t(t, x)$. The norm in $L^q(\Omega)$ is denoted by $\|\cdot\|_q$ and in $W_0^{1, q}(\Omega)$ we use the norm $\|u\|_{1, q}^q = \sum_{i=1}^n \|u_{x_i}\|_q^q$.

For convenience, we recall some of the basic properties of the operators used here. The degenerate operator $-\Delta_q$ is unbounded, monotone and hemicontinuous from $W_0^{1, q}(\Omega)$ to $W_0^{-1, p}(\Omega)$, where $q^{-1} + p^{-1} = 1$. The power for the Laplacian operator is defined by $(-\Delta)^\alpha u = \sum_{j=1}^{\infty} \lambda_j^\alpha (u, \varphi_j) \varphi_j$, where $0 < \lambda_1 < \lambda_2 \leq \lambda_3 \leq \dots$ and $\varphi_1, \varphi_2, \varphi_3, \dots$ are respectively the sequence of the eigenvalues and eigenfunctions of $-\Delta$ in $H_0^1(\Omega)$. Then

$$\|u\|_{D((-\Delta)^\alpha)} = \|(-\Delta)^\alpha u\|_2, \quad \forall u \in D((-\Delta)^\alpha)$$

and for $q \geq 2, 0 < \alpha \leq 1, W_0^{1,q}(\Omega) \hookrightarrow D((-\Delta)^{\frac{\alpha}{2}}) \hookrightarrow L^2(\Omega)$.

2. Global Nonexistence of the Solution for (1.1)

The purpose of this paper is to study the global nonexistence of the solution for the problem (1.1). First, we make some preparations.

Assume $0 < \alpha \leq 1$ and the p, q satisfy the condition

$$\begin{aligned} 2 \leq q < p < \frac{nq}{n-q}, & \quad \text{for } n > q, \\ 2 \leq q < p, & \quad \text{for } n \leq q. \end{aligned} \tag{2.1}$$

Lemma 1(Local existence) *Let the condition (2.1) hold, for any initial data $(u_0, u_1) \in W_0^{1,q}(\Omega) \times L^2(\Omega)$, if T is small enough, then there exists a weak solution u of (1.1) which satisfies*

$$u \in L^\infty((0, T); W_0^{1,q}(\Omega)), \quad u' \in L^\infty((0, T); L^2(\Omega)) \cap L^2((0, T); D((-\Delta)^{\frac{\alpha}{2}})).$$

By the method of [1], using Galerkin method, we can get the proof.

For the weak solution, we define energy as following:

$$E(t) = \frac{1}{2} \|u_t\|_2^2 + \frac{1}{q} \|u\|_{1,q}^q - \frac{1}{p} \|u\|_p^p. \tag{2.2}$$

We suppose the following weak conservation law holds

$$E(t) + \int_0^t \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2^2 dt \leq E(0), \quad t \in [0, T]. \tag{2.3}$$

Our main results are the following two theorems.

Theorem 1 *Let the conditions (2.1) and (2.3) hold, for any initial data $(u_0, u_1) \in W_0^{1,q}(\Omega) \times L^2(\Omega)$, if $E(0) < 0$, then the solution of (1.1) blows up at finite time T_0 (T_0 can be seen in the proof) in the L^p norm.*

Theorem 2 *Let the conditions (2.1) and (2.3) hold, for any initial data $(u_0, u_1) \in W_0^{1,q}(\Omega) \times L^2(\Omega)$, and with suitable positive initial energy, namely $0 < E(0) < d$, $\|u_0\|_q > z_1$ (d is the maximum of function $Q(z) = \frac{1}{q} z^q - \frac{C_3^p}{p} z^p, Q(z_1) = d$ and C_3 is the Sobolev constant in $\|u\|_p \leq C_3 \|u\|_{1,q}$), if the solution of (1.1) which satisfies*

$$u \in C([0, T]; W_0^{1,q}(\Omega)), \quad u' \in C([0, T]; L^2(\Omega)) \cap L^2((0, T); D((-\Delta)^{\frac{\alpha}{2}})),$$

then the solution of (1) can not exist globally.

Proof of Theorem 1 Using $E(0) < 0$ and (2.3), we have

$$E(t) \leq E(0) < 0. \tag{2.4}$$

Let

$$H(t) = q(-E(t)) + \left(\frac{q}{2} + 1\right)\|u_t\|_2^2 + \frac{p-q}{2p}\|u\|_p^p. \quad (2.5)$$

Now, we introduce $F(t) = \frac{1}{2}\|u\|_2^2$ for any solution u , then differentiate $F(t)$ with respect to t we have

$$F'(t) = \int_{\Omega} uu_t dx. \quad (2.6)$$

Since u is a solution of (1.1), by (2.5) and (2.6) we obtain

$$\begin{aligned} F''(t) &= \int_{\Omega} (u_{tt}u + u_t^2) dx \\ &= \int_{\Omega} (u_t^2 + (\Delta_q u + |u|^{p-2}u - (-\Delta)^{\alpha}u_t)u) dx \\ &= H(t) + \frac{p-q}{2p}\|u\|_p^p - \int_{\Omega} (-\Delta)^{\alpha}u_t u dx. \end{aligned} \quad (2.7)$$

By (2.1) and (2.4) we get

$$\frac{1}{q}\|u\|_{1,q}^q \leq \frac{1}{p}\|u\|_p^p. \quad (2.8)$$

Using (2.7) and (2.8) we have

$$F''(t) \geq H(t) + \frac{p-q}{2q}\|u\|_{1,q}^q - \int_{\Omega} (-\Delta)^{\alpha}u_t u dx. \quad (2.9)$$

Before estimating $|\int_{\Omega} (-\Delta)^{\alpha}u_t u dx|$, we claim that there exists a constant C_1 satisfying

$$\|(-\Delta)^{\frac{\alpha}{2}}u\|_2 \leq C_1\|u\|_{1,q}. \quad (2.10)$$

In fact the inequality above can be obtained from the imbedding $W_0^{1,q}(\Omega) \hookrightarrow D((-\Delta)^{\frac{\alpha}{2}})$ and $\|u\|_{D((-\Delta)^{\frac{\alpha}{2}})} = \|(-\Delta)^{\frac{\alpha}{2}}u\|_2$.

We claim that there exists a constant C_2 satisfying

$$\|u\|_{1,q}^{1-\frac{q}{2}} \leq C_2(-E(t))^{-(1-\beta)}, \quad 0 < \beta < 1. \quad (2.11)$$

In fact, by (2.1) and (2.4) we have $\frac{1}{p}\|u\|_p^p \geq -E(t)$, namely

$$\|u\|_p^p \geq p(-E(t)). \quad (2.12)$$

Since $1 < p \leq \frac{nq}{n-q}$, we have $W^{1,q}(\Omega) \hookrightarrow L^p(\Omega)$, so that there exists a constant C_3 satisfying

$$\|u\|_p \leq C_3\|u\|_{1,q}. \quad (2.13)$$

By (2.12) and (2.13) we get

$$(C_3\|u\|_{1,q})^p \geq p(-E(t)),$$

since $\frac{2-q}{2p} \leq 0$, we obtain

$$C_3^{\frac{2-q}{2}} \|u\|_{1,q}^{\frac{2-q}{2}} \leq (-E(t))^{\frac{2-q}{2p}}.$$

Let $C_2 = C_3^{\frac{q-2}{2}}$, $\beta = \frac{2p-q+2}{2p}$. It is easy to verify that $\frac{1}{2} < \beta < 1$, thus the claim above is proved.

Using (2.4), (2.10), (2.11) and Hölder inequality, we have

$$\begin{aligned} \left| \int_{\Omega} (-\Delta)^{\alpha} u_t u dt \right| &\leq \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2 \|(-\Delta)^{\frac{\alpha}{2}} u\|_2 \\ &\leq C_1 \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2 \|u\|_{1,q} \\ &= C_1 \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2 \|u\|_{1,q}^{1-\frac{q}{2}} \|u\|_{1,q}^{\frac{q}{2}} \\ &\leq C_1 \left(\frac{1}{2\varepsilon} \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2^2 + 2\varepsilon \|u\|_{1,q}^q \right) \|u\|_{1,q}^{1-\frac{q}{2}} \\ &\leq \frac{C_1 C_2}{2\varepsilon} (-E(t))^{-(1-\beta)} \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2^2 \\ &\quad + 2\varepsilon C_1 C_2 \|u\|_{1,q}^q (-E(0))^{-(1-\beta)}. \end{aligned} \quad (2.14)$$

Choose ε such that

$$2\varepsilon C_1 C_2 (-E(0))^{-(1-\beta)} = \frac{p-q}{2q}, \quad (2.15)$$

that is

$$\varepsilon = \frac{p-q}{4q C_1 C_2} (-E(0))^{(1-\beta)} > 0,$$

and let

$$\theta_1 = \frac{C_1 C_2}{2\varepsilon}, \quad (2.16)$$

then (2.14) becomes

$$\left| \int_{\Omega} (-\Delta)^{\alpha} u_t u dt \right| \leq \theta_1 (-E(t))^{-(1-\beta)} \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2^2 + \frac{p-q}{2q} \|u\|_{1,q}^q.$$

So we have

$$F''(t) \geq H(t) - \theta_1 (-E(t))^{-(1-\beta)} \|(-\Delta)^{\frac{\alpha}{2}} u_t\|_2^2. \quad (2.17)$$

Now we define

$$G(t) = (-E(t))^{\beta} + \beta \theta_1^{-1} F'(t), \quad (2.18)$$

then from (2.3), (2.8) and (2.18)

$$\begin{aligned} G'(t) &= \beta (-E(t))^{-(1-\beta)} (-E'(t)) + \beta \theta_1^{-1} F''(t) \\ &\geq \beta \theta_1^{-1} H(t) \geq (2\theta_1)^{-1} H(t) > 0 \end{aligned} \quad (2.19)$$

and there exists a $t_0 \geq 0$, such that $G(t) \geq G(t_0) > 0$, for $t \geq t_0$, where we can take

$$t_0 = 0, \quad \text{if } G(0) \equiv (-E(0))^{\beta} + \beta \theta_1^{-1} \int_{\Omega} u_0 u_1 dx > 0. \quad (2.20)$$

Using Höder inequality, we get

$$\left| \int_{\Omega} uu_t dx \right| \leq \|u_t\|_{p/(p-1)}^{(p-1)/p} \|u\|_p \leq C_4 \|u_t\|_2 \|u\|_p,$$

where C_4 is the imbedding constant for $L^2(\Omega) \hookrightarrow L^{\frac{p}{p-1}}(\Omega)$. By Young inequality we have

$$\begin{aligned} G(t)^{1/\beta} &\leq 4\{(-E(t)) + (\theta_1^{-1}|F(t)'|^{1/\beta})\} \\ &\leq 4\{(-E(t)) + (C_4\theta_1^{-1})^{1/\beta}\|u_t\|_2^{1/\beta}\|u\|_p^{1/\beta}\} \\ &\leq 4\{(-E(t)) + \|u_t\|_2^2 + (C_4\theta_1^{-1})^{2/(2\beta-1)}\|u\|_p^{2/(2\beta-1)}\}. \end{aligned} \quad (2.21)$$

In fact it is easy to verify that $\frac{2}{2\beta-1} < p$. By (2.12) we can get $\|u\|_p \geq [p(-E(0))]^{1/p} \geq (-E(0))^{1/p} > 0$, hence

$$(-E(0))^{-1/p}\|u\|_p \geq 1. \quad (2.22)$$

By (2.21) and (2.22), we have

$$\begin{aligned} G(t)^{1/\beta} &\leq 4\{(-E(t)) + \|u_t\|_2^2 + (C_4\theta_1^{-1})^{2/(2\beta-1)}\|u\|_p^{2/(2\beta-1)}[(-E(0))^{-1/p}\|u\|_p]^{p-2/(2\beta-1)}\} \\ &\leq 4\{q(-E(t)) + (\frac{q}{2} + 1)\|u_t\|_2^2 + (C_4\theta_1^{-1})^{2/(2\beta-1)}(-E(0))^{\frac{q-p}{2-q+p}}\|u\|_p^p\}. \end{aligned} \quad (2.23)$$

Using (2.5) we get

$$H(t) \geq \frac{p-q}{2p}\|u\|_p^p.$$

Letting $\theta_2 = 4 \max\{1, \frac{2p}{p-q}(C_4\theta_1^{-1})^{2/(2\beta-1)}(-E(0))^{\frac{q-p}{2-q+p}}\}$ we obtain

$$G(t)^{1/\beta} \leq \theta_2 H(t). \quad (2.24)$$

Hence

$$\partial_t\{G(t)^{1-1/\beta}\} = (1-1/\beta)G(t)^{-1/\beta}G'(t) \leq -(1-\beta)(2\beta\theta_1\theta_2)^{-1}. \quad (2.25)$$

Assume (2.20) holds, then

$$G(t)^{1-1/\beta} - G(0)^{1-1/\beta} = \partial_t\{G(t)^{1-1/\beta}\}t.$$

Using (2.25) we have

$$G(t) \geq \{G(0)^{1-1/\beta} - (1-\beta)(2\beta\theta_1\theta_2)^{-1}t\}^{-\beta/(1-\beta)}, \quad (2.26)$$

hence there exists a $T > 0$, such that

$$T \leq T_0 = 2\beta\theta_1\theta_2(1-\beta)^{-1}G(0)^{1-1/\beta}$$

and

$$\lim_{t \rightarrow T_0^-} G(t) = +\infty. \quad (2.27)$$

By (2.1) and (2.4), we get

$$-E(t) + \frac{1}{2}\|u_t\|_2^2 \leq \frac{1}{p}\|u\|_p^p. \quad (2.28)$$

Combining (2.5), (2.23) with (2.28), we have there exists a constant C_5 satisfying

$$G(t)^{\frac{1}{\beta}} \leq C_5\|u\|_p^p, \quad (2.29)$$

hence from (2.27) and (2.29), we obtain

$$\lim_{t \rightarrow T_0^-} \|u\|_p^p = +\infty.$$

Thus the proof of **Theorem 1** has completed.

Before the prove of **Theorem 2**, we make some preparations. We define the polynomial Q by

$$Q(z) = \frac{1}{q}z^q - \frac{C_3^p}{p}z^p, \quad (2.30)$$

here C_3 is the Sobolev imbedding constant for $W^{1,q}(\Omega) \hookrightarrow L^p(\Omega)$. Then

$$Q'(z) = z^{q-1} - C_3^p z^{p-1}. \quad (2.31)$$

We know $Q'(z)$ have only one zero point, that is $z_1 = C_3^{p/(q-p)}$. Hence $Q(z)$ is strictly increasing in $[0, z_1)$ and strictly decreasing in $(z_1, +\infty)$.

Let

$$d = Q(z_1) = \left(\frac{1}{q} - \frac{1}{p}\right)C_3^{\frac{pq}{q-p}} > 0. \quad (2.32)$$

Lemma 2 *Suppose u is a local solution of the problem (1.1) and the condition of **Theorem 2** holds, then there exists $z_0, z_0 > z_1$, satisfies*

$$\|u(t)\|_{1,q} \geq z_0, \quad \forall t \in [0, T). \quad (2.33)$$

Proof of Lemma 2 By (2.2), (2.30) and Sobolev inequality we get

$$E(t) \geq \frac{1}{q}\|u\|_{1,q}^q - \frac{1}{p}\|u\|_p^p \geq \frac{1}{q}\|u\|_{1,q}^q - \frac{C_3^p}{p}\|u\|_{1,q}^p = Q(\|u\|_{1,q}), \text{ for any } t \geq 0, \quad (2.34)$$

hence

$$Q(z_1) = d > E(0) \geq Q(\|u(0)\|_{1,q}). \quad (2.35)$$

By continuity of Q , $\|u_0\|_q > z_1$ and (2.35), there exists $z_0, z_1 < z_0 \leq \|u(0)\|_{1,q}$, satisfying $Q(z_0) = E(0)$. We first prove that $\|u(t)\|_{1,q}$ can not be located in (z_1, z_0) . Otherwise, we assume there exists $t_0 \in [0, T)$ satisfying $\|u(t_0)\|_{1,q} \in (z_1, z_0)$, then

$$E(t_0) > Q(\|u(0)\|_{1,q}) \geq Q(z_0) = E(0).$$

This is a contradiction with $E(t) \leq E(0)$. By $\|u(0)\|_{1,q} > z_1$ and the continuation of $E(t)$ and u in $W_0^{1,q}(\Omega)$ on $[0, T)$, we have $\|u(t)\|_{1,q} > z_1$ for all $t > 0$. So by the above discussion, Lemma 2 has been proved.

Proof of Theorem 2 By contradiction arguments, we assume the solution satisfying the condition of Theorem 2 exists globally. Let

$$F(t) = (u, u) + \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u, (-\Delta)^{\frac{\alpha}{2}} u) d\tau + (T_0 - t)((-\Delta)^{\frac{\alpha}{2}} u(0), (-\Delta)^{\frac{\alpha}{2}} u(0)) + \beta_1(t + t_0)^2,$$

here t_0, T_0, β_1 are constants to be given later.

$$\begin{aligned} F'(t) &= 2(u, u_t) + ((-\Delta)^{\frac{\alpha}{2}} u, (-\Delta)^{\frac{\alpha}{2}} u) - ((-\Delta)^{\frac{\alpha}{2}} u(0), (-\Delta)^{\frac{\alpha}{2}} u(0)) + 2\beta_1(t + t_0) \\ &= 2(u, u_t) + 2 \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u, (-\Delta)^{\frac{\alpha}{2}} u_\tau) d\tau + 2\beta_1(t + t_0), \end{aligned} \quad (2.36)$$

since u is a solution of the problem(1.1) and using (2.36), we have

$$\begin{aligned} \frac{1}{2}F''(t) &= (u_t, u_t) + (u, u_{tt}) + ((-\Delta)^{\frac{\alpha}{2}} u, (-\Delta)^{\frac{\alpha}{2}} u_t) + \beta_1 \\ &= (u_t, u_t) + \|u\|_p^p - \|u\|_{1,q}^q + \beta_1 \\ &= (1 + \frac{p}{2})(u_t, u_t) + p \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u_\tau, (-\Delta)^{\frac{\alpha}{2}} u_\tau) d\tau + (\frac{p}{q} - 1)\|u\|_{1,q}^q - pE(0) + \beta_1 \\ &\geq (1 + \frac{p}{2})[(u_t, u_t) + \beta_1] + p \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u_\tau, (-\Delta)^{\frac{\alpha}{2}} u_\tau) d\tau \\ &\quad + (\frac{p}{q} - 1)z_0^q - pE(0) - \frac{p}{2}\beta_1, \end{aligned} \quad (2.37)$$

by choosing β_1 such that $\frac{p}{2}\beta_1 = (\frac{p}{q} - 1)z_0^q - pE(0) > (\frac{p}{q} - 1)z_1^q - pd = 0$, β has been fixed. Then

$$F''(t) \geq (p + 2)[(u_t, u_t) + \beta_1] + 2p \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u_\tau, (-\Delta)^{\frac{\alpha}{2}} u_\tau) d\tau,$$

choose t_0 large enough such that $F'(0) = 2(u_0, u_1) + 2\beta_1 t_0 > 0$. Hence $\forall t \in [0, T_0]$, we have $F(0), F'(0), F''(0) > 0$. Set

$$\begin{aligned} A &= (u, u) + \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u, (-\Delta)^{\frac{\alpha}{2}} u) d\tau + \beta_1(t + t_0)^2, \\ B &= \frac{1}{2}F', \quad C = (u_t, u_t) + \int_0^t ((-\Delta)^{\frac{\alpha}{2}} u_\tau, (-\Delta)^{\frac{\alpha}{2}} u_\tau) d\tau + \beta_1, \end{aligned}$$

we have $A < F$, $C \leq \frac{F''}{p+2}$.

Hence $\forall (\xi, \eta) \in \mathbf{R}^2$, $t \in [0, T_0]$, we get

$$\begin{aligned} A\xi^2 + 2B\xi\eta + C\eta^2 &= (\xi u + \eta u_t, \xi u + \eta u_t) \\ &\quad + \int_0^t (\xi(-\Delta)^{\frac{\alpha}{2}} u + \eta(-\Delta)^{\frac{\alpha}{2}} u_t, \xi(-\Delta)^{\frac{\alpha}{2}} u + \eta(-\Delta)^{\frac{\alpha}{2}} u_t) d\tau \\ &\quad + \beta_1(\xi(t + t_0) + \eta)^2 \geq 0. \end{aligned}$$

Then $\Delta = (2B)^2 - 4AC \leq 0$, hence $(\frac{1}{2}F')^2 - F\frac{F''}{p+2} \leq 0$, namely

$$FF'' - (\alpha + 1)(F')^2 \geq 0$$

here $\alpha = \frac{p-2}{4}$. So $[F^{-\alpha}(t)]'' \geq 0$ holds for every $t \in [0, T_0]$, that $F^{-\alpha}(t)$ is a concavity function. We could obtain the blowup time T_b in the standard way (see [3]), where $T_b \leq \frac{F(0)}{\alpha F'(0)}$. Then we reach a contradiction with our assumption, so **Theorem 2** has been proved.

Remark About $F''(t)$ in the proof, it is formal calculation, we can make it rigorous by the approach of H. A. Levine and J. Serrin [10].

Acknowledgement The authors would like to thank the referees for reading carefully this paper and for useful suggestions.

References

- [1] Gao H, Ma T F. Global solutions for a nonlinear wave equation with the p-Laplacian operator. *Electronic Journal of Qualitative Differential Equations*, 1999, **11**: 1-13.
- [2] Levine H A. Instability an nonexistence of global solutions to nonlinear wave equation of form $Pu_{tt} = Au + F(u)$. *Trans. Amer. Math. Soc*, 1974, **192**: 1-21.
- [3] Levine H A. Some addition remarks on the nonexistence of global solutions to nonlinear wave equation. *SIAM J. Math. Anal.*, 1974, **5**: 138-146.
- [4] Levine H A, Pucci P, Serrin J. Some remarks on global nonexistence for nonautonomous abstract evolution equations. Harmonic analysis and nonlinear differential equations. *Contemp. Math.*, 1997, **208**: 253-263.
- [5] Ikehata Ryo. Some remarks on the wave equations with nonlinear damping and source terms. *Nonlinear Anal. TMA*, 1996, **27**: 1165-1175.
- [6] Georgiev V, Todorova G. Existence of a solution of the wave equation with nonlinear damping and source terms. *J. Differential Equations*, 1994, **109**: 295-308.
- [7] Salim A M, Belkacem S H. Global non-existence of solutions of a class of wave equations with non-linear damping and source terms. *Math. Meth. Appl. Sci.*, 2004, **27**: 1687-1696.
- [8] Fucai Li. Global existence and blow-up of solutions for a higher-order Kirchhoff-type equation with nonlinear dissipation. *Applied Math. Lett.*, 2004, **17**: 1409-1414.
- [9] Pucci P, Serrin J. Global nonexistence for abstract evolution equations with positive initial energy. *J. Differential Equations*, 1998, **150**: 203-214.
- [10] Levine H A, Serrin J. Global nonexistence theorems for quasilinear evolution equations with dissipation. *Arch. Rat. Mech. Anal.*, 1997, **137**: 341-361.
- [11] Rodrigues J F. Obstacle Problems in Mathematical Physics. North-Holland, 1987.